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General Instructions :

QAT 9397 -

Read the following instructions very carefully and strictly follow them:

FreTfeiad (aor &t e @ U8 U quiey @ J7ehT 3TJarerT @Y |

(1)

(111)

(iv)

(v)

- Time allowed : 3 hours . Maximum marks : 80
feia a7 :3 592 oy . féeeH 7% : 80
Note/ i< : |
(i)  Please check that this question paper contains 20 printed pages + graph.

FYT S F A [ 39 F97-97 § gaa y320 + WE &l

Please check that this question paper contains 38 questions.

FUIT ST B [ 59 F97-97 §38 FIT &1 '

Code number given on the right hand side of the question paper should be written on the title
page of the answer-book by the candidates.

¥¥7-T4 4 GIie 819 %1 3R 13T 7T HIS 751 H ST FW-JIeaal & §@-78 W o7& |
Please write down the Serial Number of the question in the answer-book before
attempting it. ‘ . S
T G BT I TG 9 @ 6 Uge, Ie-gRaaT § WO T I v o
15 minutes time has been allotted to read this question paper. The question paper will be
distributed at 10.15 a,m. From 10.15 a.m. to 10.30 a.m., the students will read the question
paper only and will not write any answer on the answer-book during this period.

§9 J7-7 &1 Tg7 % [e7Q 15 e %57 @7 1397 717 &1 99-97 %7 far gatg 10,15 a9
forar S| alE 7 10.15 79 §10.30 T G ST FaeT F97-I9 F) T2 SR 39 @y
SR & STR-YRaa ¥ FE I 78T fer@ 7
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(vi)  This questions paper comprises five sections-A, B, C, D and E. All questions are compulsory.
Tor-T 9 Fel A i e T E - @ @, T T Tt g9 aifrard &1
(vii) Section A:Q.NoTto20 comprises questions of 1 mark each.
wew e T 20 7 g O g gl 5 A
(viii) Section B: Q. No 21 to 25 conprises questions of 2 marks each.
e g 21 G 25 79 Fe & g Jedw 4772 7 FTEI
(ix) Section C: Q. No 26 to 31 comprises questioﬁs of .3 mqus each.
e I g7 GEI 26 § 31 0 FeT & TF Jodm 4T3 HH F &
(x) Section D:Q.No32to 35 comprises questions of 5 marks each.
e 7 7o G 32 35 7% ¥ & T FeAw TS o 7 &
(x1) Section E: Q. No 36 to 38 comprises questions of 4 marks each.
oz = 7 7T T 36 § 38 7 T € T I A4 o 8

(xii) Thereis no overall choice in the question paper. However, internal choice has been provided
in 2 questions of 2 marks each, 2 questions of 3 marks each, 2 questions of 5 marks each and

each question of 4 arks has an internal choice in one part.

You have to attempt only one of the choices in such questions.
W—Wﬁwwﬁéﬁwﬁ%‘/ ToyTfir 2 3751 aed 91 H, 3 o7 e g A 5 e Al
g 4, o gt & e faeey KT T & T 4 s} T, g T & T 97 7 AR
ﬁwé/ﬁ@wﬁﬁ'mwﬁﬁwaﬂmw/

(xiii) In addition to this, separate instructions are given with each section and quiestion, wherever

necessary. = - -

zg% SR, STFTTFHATIT, gede ST SR 9T & I

(xiv) Use of Calculators is 1ot permitted.

Serpeler & wAT A T

opfed e 13T T &1

- 22 ey
' .t . i 10t stated.
(xv) Draw neat figures wherever required. Take m= " wherever required, if 1 '

. 92, -
gt o o ST B Wﬁﬁw’q’/aﬁwaﬂwﬁf& 7=l

e ——————

SRS e

2

036-MA



SECTION-A /@S-

Section-A consists of 20 questions of 1 mark each.

we-& U 1-1 37k & 20 W9 &1

1. If the median and mode of a frequency distribution are 24 and 16 respectively, 1
then the mean is: ' _

I Tk SRERAT i< Sl WEdeh ST ST HA: 24 3R 16 8, @ wea ©
(a) 24 (b) 28 (0 16 | (d) 245

2.  Aletter of English alphabet is chosen at random. What is the Probability that the 1
letter so chosen is a Consonant ?

" SIS SoTHTeT S U 31ER I A Tese €9 9 A1 S § lm.maﬁuﬂww%ﬁsﬂ

-5

2 7o BT 21
@ o ®) O % @ 5
3. The points (-4, 0), (4, 0), (0, 3) are the vertices of a : | : 1
(a) right triangle (b) isosceles triangle
(c) equilateral triangle (d) scalene triangle

fig (4, 0), (4,0), (0, 3) FoFa Pr@ H < € 2
(a) HHHI Y | (b) HHfeTg B

. (c) Hwemg s ik (@) fomm s
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4,

The point which divides the line segment ]ommg the pomts (7,—6) and (3 4) in
the ratio 1 : 2 internally lies in the :

(@) IQuadrant (b) IIQuadrant

(c) IIQuadrant (d) IV Quadrant

7 faig =t feigsdl (7, - 6) 3iR (3, 4)@@3%%%@@33%%@@1 2%:313%
ﬁﬁwﬁﬁm% f@ﬁ%

(a) “gaRIIH | (b) ~rgerfe 11
() g (@ TV

The ratio of LCM to HCF of 5, 15 and 20 is :

5,15 3 20 % LCM 3R HCF %1 377 ¢ :

(@) 12:1 (b) 11:1 (@) 9:1 (d) 4:3

The pair of linear equations 2kx + 5y = 7, 6x— 5y =11 has a unique solution, if :

e e I 2kx + 5y =7, 6x — 5y =11 1 3Mgda et a+ft e §, afs -

(a) k:% ! (b) k#5 (© k=#—3 (d) k#%

If AABC is right-angled at C, then the value of cos(A + B) is :

I AABC, C T HHIT €, ol cos(A+B) R AF S :

= ‘ 1
@o - @1 © I @ 5
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8. ThemthtermoftheA.P.lll—'_m,1+2m' is: 1
m m m J seeee .
(a) _1_+(m—-1) | b 1+m2
m . (b) m
lim-om |
© o (d) none of these
1l 14+m 1+2m
Pa—'ﬂ' aT ’ ’
fgq-m;rA m g o = i m
1 ' ' 1+ m?
a) —+(m-1) (b
(@ — i= (e
) 1 . . . -. Q
(© — +@m-Dm (d) ¥ 9 =i T

9. Inthe givenfigure, ABCDisa re.ctangle. The Values of x and y respectively are: 1
aTlﬁWﬁ,ABCD@?W% lxﬁl’(y%?ﬂfﬂ:ﬁﬁ%i
D x+y C
- 3
= ,
A 30 B |
(@) 20,10 (b) 15,15 (c) 22,8 - (d) 16,14
1

10. If the graph of a polynomial p(x) does not intersect the x-axis but intersects y-axis
in one pomt then the number of zeroes of the polynomial is:

(@) Qor 1 (b) O () 1 (d) none of these

: aﬁagﬁp(x)mumx-a&{aﬁuﬁ%é’d Tl clﬂdl% SIEE /-E&Tﬁ@ﬁgﬁuﬁﬁéﬁ
T T, A TGIE H YRIH okt HeA el |
(a) 031 (b) 0 ’

© 1 (d) AR T
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11. Zeroes of the polynomial f(x) =x*~2x are :

A2,

13.

14.

(a) 2and4 (b) T1and3 (c): Oand 4 (d) Oand?2
TEUE f(v)=x2—2x H LIAF | :
(a) 23R4 (b) 13R3 (© 03R4 () 0%iR2

If —1is aroot of the quadratic equation kx2—4x+k=0, then the value of k is :
A T FHFT ka2 —dx + k=0 B TH T 13, Ak FT AL :

(a) —4 (b) 4 (0 ~2 (@ 2

If the distance between the points (4, p) and (1, 0) is 5 units, then the value of P
is: | '

(a) 4only‘ (b) —4only () =4 (d 0
aﬁq’ﬁg(/;,p)sﬁr(m)%aﬁaﬁgﬁssm%,?hpwm%;
(a) a4 (b) HeIA—4 () =4 (d 0

The ratio of the total surface area to the curved surface area of a right circular
cylinder with base radius 8Q cm and helght 20cmis:

Wﬁmsocmakaars‘zocma@ Teh qmda?@ﬂww&ﬂ?a%qéﬁ
SIthel T ST BT

(@ 1:2 | (b) 2:1 () 3:1 (d 5:1

1

1

1

036-MA ' ' 6



15. If /3 5inf —cos8 =0 and 0° < < 90°, then the value of 8 is :
e /3sind —cos6 =0 31 0° < 0 < 90°, T 6 1 T B -

@ 30° (b)) 45 (©) 60° () o0

16. If 3 cotd =2, then the value of sinf is :

Iz 3 cotd =2 &, T sind T W BT

2 3 |
@ 3 ®) 3 © B @ 7B

17. Inthe given figure,

AD AE s |
T)E = _—, |AD 70° and = 50°. The measure of |BCA is :

_ﬂnﬁa@ﬁlﬁ—@#i@lﬂ)_ 70° &fR [BAC = 50°%|1£Awrrm%

(@ 700 () 6O (c) 50° (d) 20°

036-MA



18. In the given figure, point P is 15 cm away from the centre O of a circle and the 1
length PT of the tangent drawn from P to the circle is 9 cm. The radius of the circle

is:

@ TP § foig P, Th 9 % 7 O/ 15 cm 1 g0 W 3 P H g0 W il T Tt
@I PT ! d918 9 cm | I i =21 2t :

T

(a) 1.5 cm (b) 9cm (c) 6cm (d) 12cm

Directions: In Questions 19 and 20, a statement of Assertion (A) is followed by a
statement of Reason (R). Read both the statements Carefully and choose

the correct option :

(a) Both Assertion (A) and Reason (R) are true and Reason (R) is the correct
explanation of Assertion (A).

(b) Both Assertion (A) and Reason (R) are true, but Reason (R) is not the correct
explanation of Assertion (A).

(c) ‘Assertion (A) is true but Reason (R) is false.

(d) Assertion (A)is false but Reason (R) is true.
feor . 919 SR 20 W T AR (Aj%-m@ﬁ(k)ﬁmw%naﬁm
ﬁw@wm%wﬁﬁﬁ@aﬁﬁwgﬁm
(a) ARTHYA (A) T T (R) S1 T € 3R e (R), U (A) i T AT FAE |
(b) e (A) 7o e (R) S 6 § Tq T (R), 2 (A) Tl Wl e T T ¥

(c) YA (A) 9 T, g T4 (R) 39 & |

(d) ST (A) ITHE €, W T (R) T €
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19. Assertion (A) :  Froma point Q, if the length of the tangent drawn to a circle 1
is 24 cm and the distance of Q from the centre is 25 cm, then
the radius of the circleis 7 cm. . ~

Reason (R) :. A tangent to a circle is perpendicular to the radius through
the point of contact.

e (A) ¢ R g Q@ T o il e A i 24 cn % 3
FT QM T 25 cm ¥, A I I B 7 cm BN |

7 (R) o et fog e e e e g 9 T et e it 4 €1

20. Assertion(A) : If the length of the minute hand of a clock is 7 cm, then the

: 77 92
aréa swept by it in 5 minutes is —6—Cm :

Reason(R) :  Thelength of an arc of a sector of angle § and radius 1’ is

X>2qrt,. "

-
BVERPYT T 3600

ARFTT(A) uﬁ@a@ﬁ%ﬁgﬁﬁaﬁéhm%JMﬁ%ﬁ'ﬁﬁi g
<fera & 1 EeThel 167—cm2%'|

@& (R) : ﬁm’r'méqa#wﬁm,fawwe%,%@ﬁmﬁ
'C’faTﬁl=—e——><2'rrr B | '
360° |
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SECTION-B/@g-@

“Section - B consists of 5 questions of 2' marks each
Ge-T H 22 il & 5T

21. The sum of the zeroes of quadratic polynomial kx? + 2x — 3k is equal to twice their
product. Find the value of k.

feee Sigu k2 + 2x — 3k % Y[2eh! 1 AT Sk T[UFhet T AT © | k o1 #IH F hifsTC |

22. Two alarm clocks ring théir alarms at regular intervals of 50 seconds and
48 seconds. If they first beep together at 12 noon, at what time will they beep

again toggther next time ?
< S1e et 50 TS 3iR 48 Tehe % Frafia siawral # otem oSt € | 9fE Teef! aR
éﬁm&ﬁ%lzﬁm%,?ﬁmwammﬁmaﬁa@ﬁﬁ ?

23. Find the value of x if :
x 1 qF J1d SIS, Ife ;
tan 3x =sin45° - cos45°+ sin30°

OR/ 317a

- Evaluate: ‘
qH J1d HIT :

2’can2 30° + ’can2 60° + cosec 30° — tan45°
cot2 45° . '

24. Inthe given figure, OA-OB=0C"-OD. Show that ZzA=2/Cand £B=«D.
< 7 R H OA - OB = OC- OD | fig HifSy £A = 2C 3R £B=4D.

C
A

036-MA 10
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OR/ 3TeraT

ABCD is a trapezium in which AB | DC and its diagonals intersect each otherat 2

) AO CO
the point O. S} e S o
p how that BO DO

ABCD T& 9ais ¥ fas ABnDc%wmfawfwfa‘gomqﬁf%am%

Prove that the tangents drawn at the ends of any diameter of a circle are parallel.

25.
firg FIRTE For ot o % Toreht oo 3 Rt e it 78wt Y e At

SECTION - C/@g-T

Section - C consists of 6 questions of 3 marks each.
Te-TH 3-3 3{hi & 6 AT
26. Find the ratio in which the line segment joining the points A(1, —5) and B(—4,5)
is divided by y-axis. Also, find the coordinates of the point of division.
9% 3T F Firer fored foig A(1, —5) 3R B(—4, 5) =l faam aen Yares y-31e 9
fauifora 21 & 1 39 faureH fog & fdwis ot 9@ S |
OR/ et

If the points A(6, 1), B(8, 2), C(9, 4) and D(p, q) are the vertices of a parallelogram
taken in order, then find the value of p and q.

afs féig A6, 1), B(8, 2), CO, 4) 3R D(p, q) T 5w & O R , Teh Triex wgsl o e
g, ?‘ﬁpaﬂ'{.qa?qﬁ'ﬂﬁaﬂm I

27. Prove that 2—7+/5 is an irrational number, given that /5 is irrational.

fe 2 fir /5 T STIRGR T £, 11 fag FfTT R 2—7/5 T SR e gl |

2

3

3

036-MA 11



28. A chord of a circle of radius 14 cm subtends an angle of 90° at the centre of the 3

circle. Find the area of the corresponding minor segment.
14 cm T2 et 990 %1 Wk St 3 w1 e oy stafa e & | T - gaES
SAEA @ HIT | .

1 —cos A _ 3
29. Prove that: ,/1 Eeonh - cosec A — cot A,

1_.
95 =ifs ; Lol {2 cosec A — cot A

1+ cos A
OR/3terar__
Prove that: (sinf + cosec8)? + (cos8 + sec)2 =7 + tan20 + cot20. 3
98 ST : (sind + cosecs)? + (cos® +sech)? =7 + tan20 + cot20.
3

30. In the given figure, AP, AQ and BC are tangents to the circle. If AB=5 cm,
AC=6 cmand BC=4 cm ; then find the length of AP.

& ¥ oTRfa H AP, AQ 3R BC 91t ©el Y@t ¥ | af AB=5 cm, AC =6 cm 3R
BC=4 cm &, il AP &l we 91 Sife |

31. Solve the following pair of linear equations graphically :
x+y=5x-y=>5

036-MA | 12



SECTION-D/@g-¥

Section - D consists of 4 questions of 5 marks each.

WS- U 5-5 3ichi o 4 Gy

32. Ifalineis drawn parallel to one side of a triangle to intersect the other twosidesin 5
distinct points, then the other two sides are divided in the same ratio. Prove it.

aft forelt Bt - s & i o 2 e 1 for- i fefgell R
o T Tk Y Wi =, ot orr @ et e & g H Tt < st E- g i

33. A toy isin the form of a hemisphere surmounted by a right circular cone of the = 5 ,
same base radius as that of the hemisphere. If the radius of the base of the cone is

21cm and its volume is 3 of the volume of the hemisphere, calculate the height of

the cone and the surface area of the toy.

T TGl T 5591 21 cm 911 T i & STRR & &, il 3§ 5531 & T iefiied ™

’ . . 2 . c,‘ 3 N
R 1 afg Sig 1 STEae ST % STEa 5 ¥, 1 v & S IR fae
& TR AT <h TR AT

OR/ 31eraT
From a solid cylinder whose height is 15 cm and diameter 16 cm, a conical cavity

- of same height and same diameter is hollowed out. Find the total surface area of
the remaining solid. (Use m=23.14)

=€ 15 cm 3R &M 16 cm 911 Tk 319 9o B ¥ 36 S8 3R 3l =1 arelt U
WWWWW%IW@@HWW &Thel G HIAT (77 =3.14
ITIRT )

036-MA 13



34. Daily wages of 110 workers, obtained in a surve

35.

y, are tabulated below :

r’ 220220-
Daily wages (%) |100-120|120-140| 140-160|160-180| 180-200| 200-2 240

18 12 13

Number of
workers

10 15 20 22

Compute the mean daily wages and modal daily wages of these workers.

T AU H W 110 Aftent w1 e Hered A9 GRvies ¢ |

v Tt (%) | 100-120{120-140140-160| 160-180 180-200| 200-220| 220-240

affsisraear| 10 15 | 20 22 18 12 13

yftrnl i 3iEa (Frex) %m@aﬂtw%ﬁwnﬁr@ﬁmﬁml

Ben and Arul are playing with marbles. They together had 45 marbles. Both of
them lost 5 marbles each, and the product of the number of marbles now they
have is 124. Find the number of marbles Ben had. '

3 1 ot el 9 e T ¥ | S O e PR 45 9 & 19 5.5 ) 8w i
319 3R T S ol €, STohT UAEA 124 ¥ 1S9 % I F fhad S o 39! TE&Al
A HIfST |

OR/ 37raT

Ina flight of 600 km, an aircraft was slowed down due to ba
speed for the trip was reduced by 200 km/h and time of f]
30 minutes. Find the original speed of the aircraft,

.d weather. Its average
ight was increased by

600 km &t I8H B Tk foAM @ 5 & SR RIEIR R o e
nﬁzookmuﬁrﬁammaﬂéaﬁtmmwsommwngﬁgﬁﬁ:rqﬁfﬁ
I@ HIfT) | *

N - — — \—N R
036-MA | 14




36.

SECTION-E/GE-¥

Section - E consists of 3 case study based quesions of 4 marks each.

TS - & | WahTUT STea SeRe 3 Wt ¥ Rt & wedeh 4 31 T |

Rudraksh loves collecting sea shells as a hobby. He takes joy in gathering different
types of shells and skillfully arrange them in rows, creating visually appealing

displays. The way Rudraksh put the shells in rows shows how pretty sea shells
are. The number of sea shells in rows form an AP,

The number of sea shells in 5t and 7th row together is 52 ahd'number of sea shells
in 10t row is 46. Based on the above information, answer the following
questions: : A

(i) How mahy sea shells are there in the first row ?

(i) What is the difference between the number of sea shells in 20th and 18t
row ?

(iii) How many total sea shells are there in first 10 rows ?

OR

(iii) What is the sum of number of sea shells in 4th and 5% rows ?

036-MA . 15



a@q@g%lagﬁfmwéym.
e H SAATeerd T T, R ey
<ifrrll H T T €, S T e

TLIE 1 Wk % AR R G} HE sehest HE
I $HEDT HTA H ST WAl & IR Hererargeish 3¢
TRtk Y BT ¥ | TE1er & Wi ) o e
& Top Tt Wiftel fopaet o o ¥

wferal & Wt Wi T T 4 (AP) SR E

5 31 7 o Wt & et oremehe e i e 52 % o 10/ e W 1w
46 B | | |

mm%aﬁwmﬁwﬁ@auﬁ%wﬁm:
| (i) mﬁﬁaﬁmﬁmﬁrﬁﬁ%?'
(i) 20 o ok 18 =ff ferll ¥ Wt Wl 1 wen & i s w2
(iif) T=elt 10 Wl H Fer foraet Tt Wity § 2
37eqar

(i) ﬁﬁﬁuﬁﬁﬁﬁmﬁﬁm@ﬁﬁaﬁmﬁmww%? o

036-MA . . 16




37. Inthecity, there are two big hoardings with important messages. One says, “Join
. hands to keep your city clean - a shared responsibility for a healthier and more
. beautiful community”. |

The other hoarding says, “Drive slow and keep our little ones safe-reduce speed
when approaching school to ensure a secure environment for everyone”.

Both the hoardings are put on two poles of equal heights standing on either side of
the road. From a point between them on the road, the angles of elevation of the
top of poles are 60° and 30° respectively. Height of each poleis 20 m.

Keep your Go Slow
City Clean School Ahead x
Q S

8

o

«

60° 30°
P O R

Based on the above information, answer the following questions:

(i) Find thelength of PO.

(ii) Find thelength of RO.

(iii) Find the width of the road.

OR

(i) If the angle of elevation of the top of pole PQ is 45°, then find the length of
PO.

036-MA 17



wﬁqﬁwma@aa@ﬁam%(é%n).aﬁ%lwm ’
wwﬁ%maaﬁaﬁ—@wﬁiﬁwwwa‘m@ww ,

@Wﬁ(@féﬂ)mﬁw@%ﬂaﬁtﬁnﬁr@ﬂ@ﬂﬂﬁﬁ%ﬂﬁ@%ﬁﬁgﬁm
T@-ﬂ’ﬁ?mﬁﬁmwmwﬁﬁmﬁﬁﬂmmvﬁwﬁ |

' : i 3 [ AT B HSF W
ﬁﬁamqg(ﬁr&ﬁmma:aﬁaﬂ?@%mﬂm%a@ﬁﬂ 1 H
mﬁaaﬁa@ﬁgﬁ,@ﬁ%sﬁﬁﬁwwm;60°aﬂ130°%|m@ﬁaﬁm
20 HieT 7| dlesot

o e e el
! W0 W@ TRl A ©
Q S
&
5
60° 30°
P O R

ISR THEHR & AR R Fferfead Je & S Y
(i) PO ! e I SIS
(ii) RO &I T JM hifST |
(i) FEH HI AR I R
3eraT

(iii) afg TH PQ % MG 1 I i 45° %, T PO =} wies T =% |

036-MA = _ e



38. There are 12 face cards in a deck of 52 playing cards which are shown in the'figure
- asreference. Sukriti took a pack of 52 playing cards and kept aside all the black
face cards and shuffled the remaining cards well.

A card is drawn at random from these remaining cards.

Baéed on the above information, answer the foHowing questions :

(i) Write thenumber of total possible‘outcomes.

(if) Find the probability of drawing a black card;

(iii) What is the probability that the card drawn is a face card ?
OR

(iii) Find the probability of drawing an ace of diamond.

036-MA 19



52 %1 35 R Y T A 12 351 o (arelie oot ) o et 85 A o 4 e 1
TSI GHIT T 52 W W F1 0 Fne For ofR Foft 1 aReRaTet o ) v v

T o T 99 T it orest e § the o | o 99 TR & A W T R

N
|

¢
B/

() @ dwifad oRom ) denfag) -

(ii) =T T FeRTer T Wifenar 9 wifsmT |

(i) N HAIE (FifreRaT) & R FreRTen e T T qeeik A T ?
3rerar

(iid) ézaﬂsamﬁmaﬁaﬁmwmﬁml

-000- -
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